
SAP ABAP table J_3RKKRN {Interpretation check table}

J_3RKKRN

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

BUKRS [CHAR (4)]

DEBET [CHAR (10)]

KREDIT [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 J_3RKKRN-DEBET = SKA1-SAKNR 
0..N

0..N
 J_3RKKRN-KREDIT = SKA1-SAKNR 0..N

0..N T000

MANDT [CLNT (3)]

 J_3RKKRN-MANDT = T000-MANDT 
0..N0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 J_3RKKRN-BUKRS = T001-BUKRS 

0..N

0..N

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 J_3RKKRN-KTOPL = T004-KTOPL 

0..N

0..N


